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Why is recovery needed in database? Explain any one log based recovery
technique with proper example. (5]

Explain mandatory access cgu.tr}‘)[ and role-based access control with
proper example. 5 i
AN N (\*:\7\ ‘
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Describe the Q\a{aba%\backup system with its types. [5]

What typ&‘@i*en%yptlon is used by public key infrastructure and by
digital qemﬁcates\? [S]

G heck whether the given schedules is conflict sériziable ornotS: R ,(A),

R (A) Ri(B), Ry(B). R,(B), W (A). [6]

Explain the features of NOSQL. «: [2]
. OR I:‘V \\:'C{;‘

What is dead lock? Explain dead !Ohk preventlon detection techniques

with proper example. iy - [6]

State the types of NoSQlf."" Vo [2]

Explain data partitiqli’iil_‘g techﬁiques in parallel database with examples.[7]
Differentiate betweenshomogeneous and heterogeneous database. 171

= OR

o
What is difference between interoperational paralhsm Qf mtraoperatlondl
parallism? N .V [7]

Explain 2 phase & 3 phase comment protocol in DDBMS with proper
example. [7]
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